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IBPS RRB CLERK 2022 (PREVIOUS YEAR MEMORY BASED QUESTIONS)

Q1- Raj bought an article at €200. If she gave 25% discount he still manages to
earn 12.5% of the profit. Find the marked price of the article

Q1- TS 200 H Teh ] Gliell| Ffe o/ 25% ol e <eft € al a1 eft of e o
12.5% SAISId 3 =T TSI AT 8. & ohl Sffehe Fod T shifsid

1. Rs300
2. Rs 250
3. Rs 330
4. Rs 400
5. None of these
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IBPS RRB CLERK 2022 (PREVIOUS YEAR MEMORY BASED QUESTIONS)

Q2- The ratio of the present ages of A and B 1s 7 : 11. After 5 years the ratio of

their ages will be 13 : 19then, find the present age of B
Q2- A 3R B sl I 3R o1 AT 7 : 11 81 5 TN ST SFehl ST shl AT 13 -

19 ST, T B o IGHM 3T 1T hifor
1. 42 years
2. 33 years
3. 40 years
4. 32 years
5. None of these
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IBPS RRB CLERK 2022 (PREVIOUS YEAR MEMORY BASED QUESTIONS)

Q3- The difference between simple interest and compound interest on a certain

sum of money for 2 years at5% per annum 1s T 800. Find the sum

ToReft e RITRT UX 5% AT shl S H 2 9N o ol |Tmer AT 371 =Ishd s, sATST o
STl T STATE 800 Bl TIRT T hifoTd

1. Rs 220000
2. Rs 300000
3. Rs 320000
4. Rs 420000
5. None of these
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l IBPS RRB CLERK 2022 (PREVIOUS YEAR MEMORY BASED QUESTIONS)

(Q4- A train running at 90 km/h crosses an electric pole 1n 36 seconds and a
platform 1n 130 seconds. What is the length of the platform?

Q4- 90 ToRHI/=iaT 3T 71T | =IeT L&l Teh ¢+ Weh [olSTai! oh ©W hl 36 Hohe | 3R U
WICHMH ol 130 Hehe H IR LT | WWIEHMH oh TaTg 9T &7

1. 2240 m
2. 2120m
3. 2330m
4. 2350 m
5. None of these
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IBPS RRB CLERK 2022 (PREVIOUS YEAR MEMORY BASED QUESTIONS)

Q5- The ratio of length and breadth of a rectangle 1s 7 : 3 respectively. If the

breadth 1s 56 metre less than the length, what is the perimeter of the rectangle?

Ueh AT shl TS ST SIS hl AT SHATT: 7: 3 8 Al ANTE T § 56 HIT FH

2, T AT T ufifer s 27
1. 140 m
2. 200 m
3. 220m
4. 300 m
5. None of these
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IBPS RRB CLERK 2022 (PREVIOUS YEAR MEMORY BASED QUESTIONS)

Q6-A and R invested Rs. 48000 and Rs. 16000 for a period of 2 year. After 2
year, they earned Rs.48000. What will be the shares of A and R out of this

earning?

Q6-A 3T R 7 2 I &hl 3Tdfer o T 48000 T 3 16000 TG T T foham| 2

Y o1e, 3= 48000 T HATY| TH HHTE H T A TR R o &80 1 8112

Rs 36000, Rs 10000
Rs 36000, Rs 11000
Rs 24000 Rs 10000
Rs 36000, Rs 12000

None of these

A
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IBPS RRB CLERK 2022 (PREVIOUS YEAR MEMORY BASED QUESTIONS)

Q7- The total monthly salaries of A and B together 1s Rs. 65,000. A spends only
75% of his salary and B spends 60% of his salary. If they have an equal amount

of Savings, find the difference in their salary
Q7- A 3R B I el HIH od 65,000 T 81 A 3Tq AT T hadl 75% G ]
2 3T B 3799 I T 60% T AT 21 Al Ik IT9 s=id <hl 99 T 2, a1 39k

a9 H It J1q IS

1. Rs 15000
2. Rs 12000
3. Rs 10000
4. Rs 14000
5. None of these
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l IBPS RRB CLERK 2022 (PREVIOUS YEAR MEMORY BASED QUESTIONS)

Q8- The speed of a boat 1s 6 km/h 1n still water and the speed of the stream 1s 2
km/h , 1f the boat takes 12 hours to go to a place and comeback. Then find the

distance of the place

Q8- TR STeT | Uk A719 Shl AT 6 ISET § ST &R <hl 7T 2 km/h B, Ffe A1 fomelt
T ST S AT9E ST H 12 H 1 G0 oiell 1 A1 S okl gl e shiforl

1. 22km
2. 30 km
3. 32km
4. 40 km
5

None of these
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IBPS RRB CLERK 2022 (PREVIOUS YEAR MEMORY BASED QUESTIONS)

Q9- A 60 liters solution contains milk and water in the ratio 2 ¢ 1. 12 liters of

mixture 1s removed and replaced with pure milk. What 1s the ratio of milk and

water 1n mixture?

Q9- 60 T o Teh T H g8 ST Sfet oht AJUT 2 ¢ 1 21 12 it fazror fshred
2T ST @ 371X 375 g8 | waet faam ST 2| fireior o g2 37T a1+t =61 7T </ 22

|
2.
3.
4
5

8:3
5:7
7:35
8:7

None of these
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IBPS RRB CLERK 2022 (PREVIOUS YEAR MEMORY BASED QUESTIONS)

Q10- What will come 1n the place of the question mark ‘?’ in the following

question?
Q10. F=fRaa I 1 91 forg '?' 3 T 9 7 AT
(20 + 5)% of 720 = ? - 10% of 1200

210
120
102
300

None of these

A



l IBPS RRB CLERK 2022 (PREVIOUS YEAR MEMORY BASED QUESTIONS)

Q11- What will come 1n the place of the question mark ‘?’ in the following
question?

Q11. F=fcRaa o & 9 forg '?' 3 T 9 7 AT

(\/225 x24)+45+19x5="7

220
202
103
301

None of these

A



IBPS RRB CLERK 2022 (PREVIOUS YEAR MEMORY BASED QUESTIONS)

Q12- What will come 1n the place of the question mark ‘?’ in the following

question?
Q12. F=fRaa I & 9 Forg '?' 3 T 9 7 AT
95 — 10 x [25 x (160 — 150)] + 25 =2

65
55
-65
-55

None of these

A



l IBPS RRB CLERK 2022 (PREVIOUS YEAR MEMORY BASED QUESTIONS)

Q13- What will come 1n the place of the question mark ‘?’ in the following
question?

Q13. F=fcRaa I & 91 forg '?' 3 T 9 -7 AT

25 x252+60+340=7+63

283
382
832
442

None of these

A



IBPS RRB CLERK 2022 (PREVIOUS YEAR MEMORY BASED QUESTIONS)

Q14- What will come 1n the place of the question mark ‘?’ in the following

question?
Q14. F=fRaa I 1 9 forg '?' 3 T 9 T AT
20% of 400 + 40% of 1600 = ?
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